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Sig. of Invigilator.
CHEMISTRY SSC-Ii
SECTION — A (Marks 12)
Time allowed: 20 Minutes : [Version Number [9]0[8 2]

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(B

(i)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(x)

oy

(i)

(xil)

Identify the molecule produced when electrical discharges pass through the oxygen in air:

A -;-02 B. O c. 0 D. 0,

What are the units of Ke for Ny, + Oy (g &==2N0,; (s 7
A. No units B. mol.dm™ C. mol® .dm™® D. dnt® .mol™!

What will happen if [OH"] increases?

A Solution becomes unpredictable B. Solution becomes neutral
C. Solution becomes acidic D. Solution becomes basic
Which of the following is a L.ewis acid?

A OH™ B. NH, C. F D. BF,
Which of the following is an aldehyde?

A CeH;OH B. CH,COCH,

C. CH,CH,CHO D. CH,COOH

Fehling’s solution is used to determine the presence of.

A Alcchol B. Ketone

C. Phenol D. Aldehyde and Ketone
Raffinose produces units of simple sugars when hydrolysed.

A 5 B. 3 C. 2 D. 4
The substances which fight against diseases in living organisms are:

A Enzymes B. Carbohydraies

C. Lipids D. Proteins

Each DNA nucleotide consisis of:

A 5 components B. 2 components

C. 3 components b. 4 components
Permanent hardness of water can be removed by:

A lon exchange method B. Cooling

C. Boiling D. Clark’s method

Chemical formula of ammonium carbamate is:

A. NH,NO, B. NH,CONH,

C. NH,COONH, D. (NH,)SO,

Which of the following process is reduction in nature?

A Grinding B. Roasting C. Smelting D. Floatation
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Time allowed: 2:40 Hours

CHEMISTRY SSCII 2l

Total Marks Sections B and C: 53

NOTE: - Ansvyer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each 'paft should not exceed 3 to 4 lines. | (11 x3=233)

Note:

Q.3

(i)

(i)
(ifi)
(iv)
v)
(vi}
(vih)
(viii)

(ix)

(X}
(xi)
(xii)
(xiii)

{xiv)

(xv)

Attempt any TWO questions. Ali questions carry equal marks.

a.

Write the equilibrium constant expressions for the following chemical reactions:

a. N, (2) +2H, (g)"——‘V——ZNH3 @
b. COgy +3H, (o) 7==CHy 5 + H30 )

C. 2HF (gv===H, s+ F; (g

How does milk of magnesia neutralize excess stomach acid?

Differentiate between an alkane and an aikyl radical with the help of examples.

What is a substituticn reaction? How halogen atom substitutes hydrogen atoms of an alkane?
Differentiate fat soluble vitamins from water soluble vitamins with suitable examples.

" \What is the effect of acid rain on iron and marble? Give balanced chemical equations.

How does uitraviolet radiation break chlorofluorocarbons?
Which properties of water make it universal solvent?
Complete the following chemical reactions:

a. Cligy + 05 () —
b. 3Ca(OH ), g + AL (80,4)s o —
c. Cly oy + H;0y ——

What is glycogen? What is its role in anihal body?

What raw materials are used to manufacture sodium carbonate?

Why is the cellulose part of human diet?

Identify the functional groups in a typical amino acid. Draw a peptide linkage between two amino acids.
What is slaked lime? How is it produced?

Identify Lewis acid and Lewis base in the following reactions:

a. F +BF,—[BF,]
c. NH, + AICl ——>{H,N — AICL]

SECTION ~ C (Marks 20)

(2 x 10 = 20)

Explain the manufacturing of Urea with help of chemical reactions. Also draw flow sheet for Urea

manufacturing. (4+2)
Write ‘foux" disadvantages of hard water. ' ’ , 4
Describe structure and function of DNA. 7 (4+2)
Give the reaction of ethyne with strong alkaline solution of KMnQO, . ‘ (4)
Define salt. Discusé various methods for making sait. (1+5)
What is self-ionization of water? Explain self—ionization‘of water with equation. {1+3)
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CHEMISTRY SSC-II
SECTION ~ A (Marks 12)

Time aliowed: 20 Minutes [Version Number [2 [ 0[8 |6 |

Section-A is compuisory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

0) Halite is an ore of:

A Sodium B. tron C. Copper D. Zine
(i) For which reaction, Kc has NO units?

A PCly==—=PCI, +Cl, B. 2ICI—=—=1, +CI,

C. N, +3H ,=—=2NH, D. 2NQ,==N,0,

i) A drain cleaner contains 1.0x107° M, OH concentration, this solution is:

A Acidic B. Unpredictable
C. Neutral D. Basic
(iv) in the given reaction which species is donating an electron pair?

NH, + BF,—> H,N — BF,

A. N B. BE, C. H D. B
(v) Formic acid contains functional group.

A. —-OH B. ~CHO C. ~-COOH 0. -CO—-
{vi} Baeyer’s test is used to detect the presence of:

A. Ketone B. Alkane C. Alkene D. Aldehyde
{vii) Which compound has two halogen atoms on adjacent carbon atoms?

A Ether ' B. Ester

C. Vicinal dihalide D. Alkyl Halide
(vii)  The word vitamin was first used by:

A, Francis Crick B. C. Eijkman C. F.G. Hopkins D. Casmir Funk
(ix) The linkage which joins two amino acid units is called:

A Peptide Bond  B. lonic Bond C. Covalent Bond D. Metallic Bond
(x) identify the compound responsible for aid rain:

A. Sulphur dioxide B. Glyoxal

C. Vicinal dihalide D. Chlorofiuorocarbons

(i) The volumetric ratio of hydrogen and oxygen in water is:

A 1:8 B. 2:2 C. 2:1 D. 3:1
{xii) Percentage of nitrogen in urea is:
A 21.2 B. 80 C. 35 D. 46.6

For Examiner’s use only:

Total Marks: 12

Marks Obtained:
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CHEMISTRY SSC-Il Q?

Time ailowed: 2:40 Hours Total Marks Sections B and C:' 53

NOTE: Ansvyer any eleven parts from Section ‘B’ and any fwo questions from Section ‘C’ cn the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2  Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)

(i)
i)
(i)

Discuss origin of Petroleum.

- What is electrolysis? How does it help to find the volumetric ratio of hydrogen and oxygen in water?

How greenhouse gases lead {o greenhouse effect?

{iv) How is anomaleus behaviour of water helpful for aquatic life?
{v) How thunderstorms increase the acidity of acid rain?
(vi) How is ethylene glycol formed? Also give chemical reaction.
(vii) Why are ‘dextrose sugars’ called sa?
(viii)  How can we check the presence of unsaturation in alkenes and alkynes?
{ix) Differentiate between open and closed chain compounds with examples.
x) What is coordinate covalent bond? How is it different fromn a simple covalent bond?
{xi) Balance the following chemical reactions:
a. H,CO, + NaOH —— Na,CO, + H,0O
b. HNO, + Ba(OH ), —~—>Ba(NO), + H,0
c. H, PO, () + NaOH ——>Na, PO, () + H,O
(i) Give the balanced chemical equations for the:
a. Reaction of slaked lime with alum
b. Carbonated rain water with lime stone
c. Ca* ions interact with sodium zeolite
(xiity  How is hydronium ion formed? Give the chemical reaction.
(xiv)  Determine the units of equilibrium constants for the following reactions.
a. Hy g 1y (g ==2H],
b. N304 (g 7==2N0, (5
C. ANQ, , =—==2NO,
{xv) Write the structural formulas for the following compounds:
a. Formic acid
b. Ethyl Ethanoate/Acetate
c. Thiophene
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. {2x10=20)
Q.3 a What is electro refining? Discuss the different changes that take place during electro refining of
copper. ‘ ' (2+4)
b. State four benefits of Solvay process. | (4)
Q.4 Define hard and soft water. Discuss with the help of chemical reactions the methods to remove
permanent hardness. (2+4)
b. Define hydrolysis. Discuss hydrolysis of sucrose, lactose and maitose with the heip of chemical
reactions. (1+3)
Q.5 Discuss the role of main air pollutants in air poliution. {6)
" On what basis DNA differs from RNA? 4
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